

Description		Qtty	Price		Total
9	Kids Flower Chair - White 27"RND x 23"H	6	\$25.00	Т	\$150.00
	Kids Flower Chair - Pink 27"RND x 23"H	6	\$25.00	Т	\$150.00
	Palm Springs Stand Up - White Wire w. White Glass 29â [®] 8 Diam 41â [®] 8 H	4	\$175.00	Т	\$700.00
H	Buenos Aires Console Table - Clear 6'W x 18"L x 36" H	1	\$250.00	Т	\$250.00
	Sofas - Lisbon - Orange Velvet 8'W x 33⤠🛚 ± 36⤠🛛 HWith Two Matching Pillows	1	\$450.00	Т	\$450.00
	Sofas - Lisbon - Yellow Velvet 8'W x 33⤠¤ ±36⤠¤ HWith Two Matching Pillows	1	\$450.00	Т	\$450.00
	Area Rugs - Distressed Flower Blush 8'W x 10'H	2	\$200.00	Т	\$400.00
	Palm Springs Coffee Table - White Wire w. White Glass 35"Diam x 16"H	2	\$200.00	Т	\$400.00
2	Lisbon Side Chair Yellow Velvet 30â [®] 🛚 W 27â [®] 🛚 X 33â [®] 🔋 h	2	\$200.00	Т	\$400.00
-	Lisbon Side Chair Orange Velvet 30â [®] 8 W 27â [®] 8 ± 33â [®] 8 h	2	\$200.00	Т	\$400.00
	Accent Pillows	12	\$30.00	Т	\$360.00
	Chicago Bar 12'L - Painted Pink 25"W x 12'L x 42"H - Color Change Upon Request	1	\$975.00	Т	\$975.00
	Straight Barback 6'W - Painted Pink 6'W x 18"L x 8'6"H - Frame Color Upon Request	2	\$250.00	Т	\$500.00
			Total T	ent	\$51,975.00
Photo Moments			• • - • •		1 · · - ·
	Panels - Pink Ombre Backdrop - TBD Colors with Custom laser Cut Words " Our Wildflower is One" 16'W x 10'H	1	\$4,500.00	Т	\$4,500.00

Description		Qtty	Price		Total
I	Plain Panels 4'W - Custom Painted for Backdrop See inspiration image 4' x 9âN 🛛 6âN 🕅	2	\$1,250.00	Т	\$2,500.00
AA	Garden Swings - Kids - White for infront of the plain panels 80"W x 21"L x 57"h	1	\$650.00	Т	\$650.00
	Metal Display Cart - Painted Pink Metal Flower Display Cart - Pink Dupioni w/ Valance client to provide flowers and vases for display 88" x 58" x 100"	1	\$1,250.00	Т	\$1,250.00
	Display Cart w. Umbrella - Fragola - Painted Pink Props - Carts - Display Cart 03 - Pink Dupioni Umbrella for dessert display 77"W X 35"L X 39"H	1	\$950.00	Т	\$950.00
	Plain Product Display Panel w. Mirror & Shelves for sunglass display - TBD color with hand painted sign at top 12'W x 10'H - 7 Shelves 84"L -1 Mirror 6' x 30"	1	\$2,750.00	Т	\$2,750.00
	Arched Panel 8'H x 4'W - TBD Color With added 'easel stand to make it self standing for the 1 yr of photos display	2	\$950.00	Т	\$1,900.00
			Total Photo Mome	nts	\$14,500.00
Services					
	Installers: Travel to Vegas	6	\$350.00		\$2,100.00
	Installers: Install Day 1	6	\$500.00		\$3,000.00
	Installers: Install Day 2	6	\$500.00		\$3,000.00
	Installers: Strike	6	\$450.00		\$2,700.00
	Installers: Travel to LA	6	\$350.00		\$2,100.00
	Trucking: 24'L	2	\$1,250.00	Т	\$2,500.00
	Trucking: Fuel Surcharge	2	\$130.00	Т	\$260.00
	Hotel Accommodations: for (4) Nights	3	\$1,250.00		\$3,750.00
	Perdiem: for (5) Days	6	\$305.00		\$1,830.00
	Certificates: Flame Proofing	1	\$250.00		\$250.00
	Custom Artwork: Hand Painting	1	\$1,200.00		\$1,200.00
	Supplies: Onsite Misc	1	\$500.00		\$500.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Wear & Tear (3.00%):	\$2,086.65
Packing (3.00%):	\$2,086.65
Taxes (tax excempt):	\$0.00
Discounts:	(\$0.00)
Total:	\$92,745.00
Payments:	(\$0.00)
Balance:	\$92,745.00